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SECTION A — (20 x 1 = 20 marks)
Answer ALL questions.
Choose the correct answer ;

The purpose of East India company was to
with Asia.

(a) trade (b) fight (c) rule

The charter of Queen Elizabeth I granted right to
over merchants to trade with
India.

(a) 200 (b) 201 (c) 198

The early Indian. writing in English was

work.

\

(a) non-fictional (b) fictional (c) drama

Indian writing in English was divided into
phases.

(a) four (b) five (c) six

1 B oogliny | Tndsan

Global civilization is not just a collection of
disparate cultures.

(a) local (b) national (c) alien

Federal government is a practical way of -

achieving lasting
(a) peace (b) unity (c) love

‘The tiger and the deer” ends with a note of

(a) ovn»Eme (b) pessimism (c) scepticism

Sarojini Naidu earns to retrogate into the

(a) forest (b) city (c) village

Ezekiel
India.

powerfully criticises

(a) contemporary (b) ancient (c) medieval

The social - gathering referred in “In India” is

(@ New year's party (b) Christmas party
(c) Bachelor’s party
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10.

WRIRELEY

17.

18.

20.

21.

22.

he development of new varieties of language is
gsociated with factors.

i

) social and historical (b) social and political
) historical and political

S

he relationship of English with Indian languages
legitimized by 5

_5'

) Nativisation (b) Anglicisation (c) Indianisation

(g
_tmomc_mw wanted to make India a
¢lony of England.

) cultural (b) trading (c) administrative

[acaulay’s language policy resulted from the
smand of Indians for the anglicisation of

a4
(4
|
LMU education (b) religion (c) language

iasporic writers live on the of
two countries.

) margins (b) cultures (c) memories

=

Diasporic writers seek to locate themselves in new

(4) cultures (b) land (c) environment

_
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mritlal wants Jairay to become an

~

1) adult (b) dancer (c) social worker

‘o

i

aking advantage of Jairaj’s financial dependency,
| mritlal stops his

=

- classes.

o

1) dance (b) music (c) art

T’he new cricket team M.C.C. was founded by

a) Rajam and Swami (b) Swami and Somu
7@ Rajam and Sankar

=

he fictional place of “Swami and Friends” is

A

1) Malgudi (b) Mangudi (c) Lalgudi

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE in about 200 words each.

_cﬂinm a short note on the pre-requisites for a
world community.

five an account of Sen’s views on intellectual
lobalisation.
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23.
N.A..
25.
26.

27.

28.
29.

30.

Evaluate the use of nature imagery in Ezekiel’s
poem.

How does Ezekiel portray the attitude of the
British Boss Simum.m the Indian working woman?

Write vﬁom% mvoﬁ.. the plans of Amritlal for
Jairaj.

How does Rajam  bring about reconciliation
between Swami and his earlier friends?

Give a brief account of the various events that
lead to the expulsion of Swami m.oB ‘the Albert
Mission School.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE in about 300 imumm each.

How does Amartya Sen emphasis on .the necessity
of being ‘ardigious’? :

How does Sarojini Naidu portray the u&mﬁobmrﬁ
om man with nature in her poem?

“Both men.and women are victimized by gender
discrimination”, Elucidate the reference to
Daltani’s Dance like a Man. ; ’
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31.

32.

Discuss the theme of i Ebonmbom of youth in Swami
gand Friends.

[Discuss the aptness and suggestiveness of the title
wami and Friends.

100

6 71202/BRA1B




